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Calculations

e Find the propagation delay tpdr (in ECE 340 this was named tpLH) of Figure (a) using the

circuit equations.

e Find the propagation delay tpdr of Figure (b) by using a similar technique as book section

43.4 and equation (4.13) to approximate as a single time constant system. This is the Elmore
delay. There will still be a (In2) factor in your math, we are not dropping it yet like the book’s

equation (4.9).

Simulations

Simulate the transient response of the two networks using LTspice. Be sure the input waveform’s rise

time is less than 1/10th of the output’s rise time.

e Find the propagation delay tpLH of Figure (a). This should be exactly the same as your

calculated value.

e Find the propagation delay tpLH of Figure (b).
o Compare this to your Elmore-estimated value.
o Do you think it will always be an over/under estimate?
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